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BEWKEE 7890kg
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E R A E § nimn| 35 m/min
w A E N kg/cm? 70 kef/cm?
[ & % rp.m 1400rp.m
1RBIRTEAL 5: 1
EaittHE 2/ min 16 2 /min
TRE D kg/cm? 85kg/cm?
2REIRVTEALL 20 : 1
EaittHE 2 /min 142 /min
EREAN kg/cm? 85kg/cm?
RAVPE—5— ¢ 80°C
RAVINRKRBE ) 840 2
E—XRxRKE=E kg 400kg x 2
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B g
= A #H > s - km / h
~ ] g
1 12 b 6.0 6.5 7.0 75
v 2 - X - AR - FSX - X - X
k 8 A+ E—X Rk E—X RAb [e—=x RAb E—X RAb E—X
/km \ke/km| 4 4,690 5,080 5,471 5,863
15 5.025| , g 5.443| 4 a3 5.863| 5567 6.281] 4500
67 6 | 16 5,360 5,806 6,253 6,700
1.7 5,695 6,170 6,644 7,119
2/km (ke/km| 4 4 3,360 3,640 3.920 4,200
15 3.600| ; g5 3.900] , 504 4200| 5 45g 4500| , 413
48 37 1.6 3,840 4,160 4,480 4,800
1.7 4,080 4,420 4,760 5,100
2/km [kg/km 14
15
1.6
1.7
g NAb IMEHEE=ITXRE X FH=E X EE x1.000+-60)+2
‘ (ke/30%)  (km/h)  (/km) )
A5
E—X 30 EIMt 2 =i T3RE x EfH= % 1.000+-60)=2

(kg/30F)) (km/h) (kg/km) (4)
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RAVF-E—XMHEEH ¥
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FIRRVTER 35Kg/cm? ERE 0.25MPa
F2RRVTER 70Kg/cm? FuTE 7.0m/m 54°G
E2XRTHHEEA 7.5MPa
FyTE 100/150
Ak HfI:g
M EMHYHE=ERE 153 R8 2 Y ot H ) HHEFHE
B FEFTRACF [BROEE  [NAUMEEE 127169
¥ l|=g Gi G2 G1—G2 /190
1 7,521.0 1,148.0 6,373.0 12,746.0 |ZENEIFH +2%
2 7,448.0 1,146.0 6,302.0 12,604.0 | LR 12,971.1
3 7,545.0 1,145.0 6,400.0 12,800.0 [ FFE 12,462.4
E—X BHii.g
o IMEEYNHEHERTE 143FE 24 Y ot H &) = F9iE
E ey G1 G2 G1—G2
1 4,462.0 1,144.0 3,318.0 6,636.0 | ZEENEFH +5%
2 4,520.0 1,148.0 3,372.0 6,744.0 | EBR 7,016.9
3 4,478.0 1,144.0 3,334.0 6,668.0 [ TR 6,348.6
REMRE GBRETREDEEH)
19EYHHE TkmEYERETE
1B Yt H 2 (g/min X 60min) g/h — (Tkm & Y ERETEL X XA REE % 1000) g/km
=R E R E
RAR 12,716.7 X605+ (672 X 1.6 X 1000) = 7.11 km/h
E—X 6,682.7 X604+ (56kg % 1000)= 7.16 km/h
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#|0&S |28 G E;XEE OER G |XAhHE-X G2—Gf
el 4780 4232 548| 547
22 478.5 4238 54.7
=N
L1 3 4785 4238 54.7|(B) P’
el 509.8 426.0 838| 837 290
2 507.8 424.1 83.7 (A) —(B)
Y1 3 507.4 4237 837|(A) ¢© B’
SBETEE  70m/h  EERETRELETER)
REATEEENEE (HHE®R)
TFTARE—R1HY (1F15cm X KEI50em)DIGE
RAk HEtE( 67/km) x ZE(1.6) 53.6 P
1,000m=0,50m X 1,000 :
E—X 53t = (56kg/km) B
000 o x 1,000 280 g
RAVRHE—X P+B 816 o c
EFITH B & B
;| I - || OB (& = B E& [l
P < P P= 536 < P= 547
B =< B B= 280 < B= 290
c = ¢ c= 816 < cC= 837
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1. FTRAE—R1#HY (g15cm X &&50cm) DIFGE

RAUk
EREtE( 670/km) X ZFE1.6 % 1,000 X NEATEZ580% X 0.5m = 42880 g (P)
1,000
E—X
%Et=E ( 56kg/km)X 0.5m = 28.000 g (B)
RAVM+HE—X(P)+(B) 70.880 g (C")
2. TRFE—R1HEHY BF15cm x £Z20cm)DIHFE
RAUk
EBEE ( 670/km) X BEE1.6X 1,000 X MNEAFES}80% X02m = 17.152 ¢ (P")
1,000
E—X
it =( 56kg/km)X0.2m = 11200 ¢ (B”)

RAk +E—X P)+(B) = 28352 g (C”)
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